
Câu 4: 1.5 điểm



Câu 5: 2 điểm





[bookmark: _GoBack]
image2.wmf
3

/3914163101(0,5)

39

%100%38,61%(0,5)

101

14

%100%13,86%(0,5)

101

/

1538,61%5,7915()(0,25)

1513,86%2,0792()(0,25)

KNO

K

N

aMd

Kd

Nd

b

mgamd

mgamd

=++´=

=´=

=´=

=´=

=´=


oleObject2.bin

image1.wmf
6126

2

2

2

O

18

/0,1(0,5)

180

b/ V= n  22,4 = 0,15 x 22,4 =3,36 (l)(0,

5)

13,44

/0,6(0,25)

22,422,4

0,64426,4(0,25)

CHO

CO

CO

m

anmold

M

d

V

cnmold

mnMgamd

===

´

===

=´=´=


oleObject1.bin

